HSC 2010 - Information Processes and Technology
wl= Band 2/3 - Sample 1
Question 22

e

D) A Hen ok glawsaosS Aas e
{-rﬂ'fz%,é spacsd. blbeve 40 A @J c(fLe/J
| AnC pNL BZ’Q_PW C,ﬂlrﬂa_é[l/"b,

b) Q“I'rwo /Pmmm¥ Sw&}‘ﬁm
e e —— VT YO H\Lg\h@
anh hm‘? 1{

YDCM,'\ sianl Goe | }  ~— f'I
f"'-,'-”{‘ maaél erﬁj / - {
AMM.,-J- ; g_;.,.\.za' l [ e _ {

LJ) fhe. [he MJ‘SaggS Al Senth hy te Pome
fﬁfﬂf’w{“ﬂf’ ﬁfﬁid"mrs,(of ﬂ%oﬂq pfc’he./‘?(’o.p
z?ldlfa 7\,@/\ He  rouer a&ccﬂj jbare s scnd
e datn , Rensssbacd T rondus Huy
CendS iF o ool od U ol frange ftad
a~d MQSSW@C«&J pb—Ht  sclhaped Cesrvér.

(i1 .

k/EJ su b be error AL trchen f{[(wrzi,&ﬂ g_'ﬁwéd{ ;

. bes _A OQC /t.mfcf pedindonon C/uf"fj /?’W«f‘éj% St
hare are M_f%pcwff aéj .9[5/@ M 4 é/{fa% |
condd _he  prdeclalin .






